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20x2=40

1) Find the principal value of the following

sec!(—/2)
2) Find the degree measure corresponding to the following radian measure. 111—8”
3) Determine the quadrants in which the following degree lie. 1195°
4) Find the values of each of the following trigonometric ratios. cosec(11257)
5) Evaluate

cos[tan™" (%)]
6) Find the values of the following cot 75°
7) Ifcosx = —% andm <z < 3% ,find the value of 4 tan® z — 3cosec’z
8) Evaluate cot(#)
9) In any quadrilateral ABCD, prove that sin (A+B) +sin (C+D)=0
10) Prove that —an6%ttan66” 4

) 1—tan 69° tan 66°

11) Prove that cos 18° — sin 18° = /2. sin 27°
)
)

12) Evaluate: sin 50° - sin 70° + sin 10°
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13) Find the quadrants in which the terminal sides of the following angles lie.

1325°
sin20
14) Show that Ty = tant
15) Express the following as sum or difference
34 54
Cos =085

16) Express the following as sum or difference
2cos13Asin15A

17) Evaluate the following cos(sin! =)

) 13
18) Evaluate the followingtan(cosl%
: 11
19) Find the value of tan [ — tan ™" (5)]
)

20) Simplify: sin (%) + sin’l(%)
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1) The degree measure of 5 is
(@) 20°60" (b) 22°30" (c) 20°60" (d) 20°0'
2) The radian measure of 37°30'is

@ 35 B 55 (© 3 @ 3
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25x1=25

3) Iftanf = = and @ liesin the first quadrant, then cos 8 is

V5
A ) 2l (g 5 B
(a)\/(_)‘ (b)\/6 (C)% d .
4) Thevalue of sin 15° is
(a) L (b)) L (g B () 2
23 23 NN

5) The value of sin(—420°) is

V3 V3 1 -1
@ 2 k) -L @1 @

6) The value of cos(—480°) is
@ V3 b -2 (©3F @ F

7) The[;valu 06511128"00517 +c €08 2 sin 7°

Scribe mg ste RAVI HS
(a) ﬁ (b) 1 (c) W (d) 0

8) The value of sin 15° cos 15° s

@1 k3 © L @]

9) The value of sec Asin(270°+A) is
(@ -1 (b) cos?A (c) sec?A (d) 1
10) If sin A+ cos A=1, then sin 2Ais equal to
(@1 ()2 (90 (d) 3

11) The value of cos?45°-sin245° is

13) The value 4cos340°-3cos40° is
@ %2 b 3% ©1 d %

2 2 2 V2
14 2 tan 30° .
) The value of =222 is

@5 b % © L (@ V3
15) Ifsin A = % then4cos® A — 3cos A is
@1 (o (@ L2 (@ =

f 3 tan 10" tan® 10

16) The value o - is
1-3 tan? 10

L 1 V3 L

(@ =5 (b 3 (@ 5= @
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17) The value of is

@ (b) Zokd lg (@%

[V

18) sec! % + cosec,

@ = B % @7 (d -

o5t

19) If o and 3 be between 0 and & and if cos(a + ) = 1> andsin(a — §) = % then sin 2« is
16 56 64
(@ 4 B0 (0 ¢ @ &
20) Iftan A = % andtan B = % then tan(2A+B) is equal to
(@1 (b) 2 ()3 (d4

21) tan(i — :1:) is

(a) (%%) (b) (%) (c) 1-tanx (d) 1l+tanx
22) sin(cos™* %) is

@203 @5 @3
23) The value ofm is

@ % O % @ V2@ -2

24) If p sec 50°=tan 50° then p is
(@) cos50° (b) sin50° (c) tan50° (d) sec50°

25) (%) —v/1—sin’?zv1—cos?z is
coSecr

(@) cos*-sin® (b) sin?x-cos’x (c) 1 (d) 0
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1)

IR

Solve: tan ™ 12x + tan " 13x =

2) 4 (12
Evaluate cos| sin 3 + sin 5

3) Prove that /3 cosec 20°-sec 20°=4

4) 3 3z : X X
If tanx = 7-T<x<T, then find the value of sin and cos;
5) 12 .13 . 156
Show that cos | tsin 3| =sin =
6) . . T T,
Find the values of the following. sin7cos > + cosysinTs

7) Find the values of the following. cos 70° cos 10° - sin 70° sin 10°
8) Find the values of the following cos?15 - sin? 15°

9) Express each of the following as the sum or difference of sine or cosine:
A4 34
singsin?
10) Exjiress eattsof thefollewing'as thd prodict ofisin@br casimeER & my Y ouTube channel SR MATHS TEST PAPERS
sin66-sin26

11) s
Prove that: (cosa — cosﬁ)2 + (sino. — sinﬁ)2 = 4sin2(7)

1
12) prove that: sinA sin(60°+A) sin(60°-A)=Z sin3A

13) Prove that: sin (A-B) sin C +sin (B - C) sin A+ sin (C- A) sinB=0
14) Prove that 2 tan 80° =tan 85°- tan 5°.
15)

o

1
If A+B=45", Prove that (1 + tan A) (1+ tan B) =2 and hence deduce the value of tan225
sin(A+B)  m+1

16) =
sin(A—B) m—1

If tan A=m tanB, prove that

1 1
17) If tanA=; and tanB =3 show that cos2A =sin4B

18) B
Show that sin20°sin 40° 5|n80°=?

19) 24 (ci 212 —eaer PP
Prove that (cos a +cosf )+ (sina +sinf )? =cos2 3

20) If tan(x +y) =42 and x = tan-1(2), then find y
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1)

10)

11
12
13

)
)
)
14)

15)

16)

17)
18)

19)

20)

20x5=100

4

.3 _ 1 T 3z . \/—
Ifsmeg ,tang = > and ;<O<m<gp<7 , then find the value of 8tanf — ~/Ssecy

p h cos 4x+cos 3x+cos 2x _ 3

rove that sin 4x+sin 3x+sin 2x cot3x

Prove that tan(z + x)cot(x — 7) — (cos(2x — x)cos(2xw + x)) = sin’x
sin (180"+A )cos (90"7A )tan (270"7A>

Prove that = — sindcos?4
sec (540"7A )cos (360"+A ) cosec (270"+A )

5

4
If cos(a + B) = 3 and sin(a — f) = G where (o + ) and (a« — f8) are acute, then find tan2a

4tanx(1— tanzx)
Prove that ﬁ = tanx
1 —6tan“x+tan™x

Prove that (sin 3x + sin x) sin x + (cos 3x - cos x) cos x = 0.

Prove that sin(n+1)x sin(n+2) x+cos(n+1)xcos(n+2)x=cosx.

690 3035 oy WRFEAT 3 3 2095 7Y 7 fineshe value oftanie 50 S5ate thequadrant inbich a2 A)s

terminates.
Prove that cos?2x-c0s26x = sin 4x.sin 8x
Prove that cos 4x =1 - 8 sin?x cos?x.

Prove that cos 6x =32 cos®x - 48 cos*x + 18 cos?x - 1.

1
Prove that cos 20° cos 40° cos 60° cos 80°=E

A+B
If cosec A +sec A= cosec B + sec B, prove that cot(T) =tanAtanB

1
If sin (sinl(g) + cosl(x)) =1 then find the value of x

Iftan A-tan B=xand cot B- cot A=y, prove that cot (A- B) =

==

1
X

3
If sind = i find the values of cos 3A and tan 3A.

1 . 1 T T T
Iftana:;,smﬂ— T Provethata+2ﬂ—4 where0 < a < > and0<ﬂ<2.

3
Prove that cos? A +cos?(A+120°)+ cosz(A—120°)=5
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